20238HA % (1)317] (RFRAF (SAbat (3)shd Ao

Aofl 71995t

2% RY ud |2 Y| ud
1 5 2 11 1 4
2 3 4 12 4 4
3 2 5 13 3 4
4 4 4 14 1 4
Al
= 5 4 3 15 2 3
c}
= 6 3 3 16 2 2
7 4 4 17 3 3
8 5 4 18 5 3
9 5 3 19 1 5
10 1 3 20 2 3
2% ke ul
1 | At 3
2 | &9 3o 3
3 | 6EZ 4
A7) Aol gAdAL S22 Boslgee Bl R PYEA
A | 4 [MIEStel 33 st wd=dn A A osa g4 te| 6
o 22 53 ghutzo] A IS S L 5 ok
2 | 5 | m=mA Ut ARgAgoltt 4
6 51:7(]1:1_. ':0][1]' 4
7tof 71 AR P2 Fol AR ET|Q A0)7]o] vigto] g
7 |93 2B HaF AFo| B AR ofast Raho] YUz 6




